13000 GeV pp Z+Jet
‘_i|—| B T I T I T | T I T I T I T I T | T I I T I T I T ]
S - ]
8 0.7 — <pT> (ATLAS UE in Z production) —]
o~ [ m ATLAS _
S 0 & Pythia6.428 350 ]
g "+ —A— Pythia 6.428 370 7]
= B Pythia 6.428 380 i
> 0.5 —  —o— Pythia 6.428 p0 7]
% " --0O-- Pythia 6.428 p2010 -
5 -
z - ]
= 04— ]
0.3 - "
3B m W LT
~ s -
B m S G
- / O ©
0.2 —
01—

.......
¥

Rivet 3.1.10, = 3.2M events

mcplots.cern.ch [arXiv:1306.3436]

2 2
0 -
< N
l_
s 1F 1
: -
s I o
x B |
0.5 |- 05
3

Mean pT/dr] do



	Contents
	Page 1


